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url : http://www.yes24.com/24/Category/BestSeller
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http://www.yes24.com/24/Category/BestSeller
http://www.yes24.com/24/Category/BestSeller
http://www.yes24.com/24/Category/BestSeller

%23 find all) &L

= find_all() £ LA

‘div’ Ef 12| = A class=“itemUnit” 25 =& : 24| HIAE &2 & A]

A total number of cards
cards_data = data.find_all{'div', attrs={'class' 'itemUnit"'})
print{'Total Number of Cards Found : ', len{cards_data))

Total Number of Cards Found @ 24

<1 _data—goods—no="122120495" >
div class="temnit">

<div class="item_img">
<div class=" Ima_canwvas">
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<div clazs="info_row info_name">

<span class="gd_res">[ A ]</span>

<a class="gd_name" href="/Product/Goods/122120495" onclick="wisel ogh2 (&30 ;BSA439, , &439.001_005_0015439.,

839;6499;); ">OLE0l Sl= ABIBIR0</a> |

<span class="gd_nameE">0tS2| HIE Ctx2= 3 T8/ span>
39,007 _005_0014439;, &4:

<a href="/Product/Goods/122120495" target="_blank" class="ba¥lUl ico_nWin" onclick="wiselogV2(&#39,;B55439;,

<Sdive
<div class="info_row info_pubGrp">

<span clazs="authPub info_auth" onclick="wiselog¥2(3#39;BS8#39,, &#39;001_005_00284#39;, 2#33;34#39.).">
<a href="https: //waw.ves?4, con/Product/Search?domain=ALL douery==2t £T=8authorMo=2936654author=2r £ =" target="">& E=</a> H

fat=Tal

<zpan class="authPub info_date">20233 092 </span>

<fdive
<dl clazs="info_present">
<dtx<em class="bg¥Ul ico_present">7Oa| &</ em></dt>
<=
(12l €2/2/d] 2=22(g 28 0124 3 (Z2E &tZh
</dd>
</fdl=
<div class="info_row info_price">
<zpan class="txt_sa e =em claco="num =1 fam=R< fapan>
<strong class="txt_num"I<em class="ves_b">15,300</em>H</strong>
<zpan class="txt_num dash™=em claza= ves_m =10, J00F7 en>H </ span>
<zpan class="vPoint"=em class="bo¥U| ico_point">3 % EXH</en>B50H </ span>

<Sdive

<zpan class="authPub info_pub" onclick="wiseloaVZ (&3, BS84IT, . &#39,:001_000_00344839;, &39,8439; ), "><a href="https:/ wn
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for card in cards_data:
printicard. find({'a', attrs={'class':'gd_name'}). text)
tag = card.find{'span', attrs={'class': 'authPub info_auth'})
print(tag.find('a'). text)
printicard. find{'em', attrs={'class':'yes_bh'}). text)

Or=2Hl 3= ISR

B
= T

15,300

AN ZHR AIY
HHH = S=2
19,800

o O =

ot2t0| CHA EA
17,820

Edl= ma|af 2024
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17,100
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MU=, MA It Label 2t 282 2 card_details & AL 2IE A G,
scraped_data 2l AE 0 M &
scraped_data = []
for card in cards_data:
card_details = {}
card_details[ 'book_name'] = card.find{'a', attrs={'class':'gd_name'}). text
tag = card.find({'span', attrs={'class':'authPub info_auth'})
card_details['author'] = tag.find{'a'). text
card_details['price'] = card.find{'em', attrs={'class':'ves_ b'}). text

# gopend the scraped data to the [ist
scraped_data.append({card_detalls)
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data-original S & 0l A It 27

<em class="img_bdr">
|{img class="lazy" data—origiﬂal=”httpsiffimage.yesEﬂ.comfgoodsf122120495fL“|

sre="https:// image. ves?d com/momo/Moima_L . jpg" border="0" alt="0IEH &= LHITIFEH">




AM&3.1 <img>Ef 3

m 252300 Ol A

HHM <img> EH 02 =&

F Find afl with the image tag
images=[]
for card in cards_data:
images . append( card. find{ img') )
print{'Number of Images: ', len(images))

Number of Images: 24
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image src = [x['data-original'] for % in images]
for image in image_src.
print{image)

https://image. ves2d . com/goods/122120495/L
https://image. ves2d . com/goods/123400249/L
https://image.ves2d, com/goods/123165346/L
https://image. ves2d . com/goods/122426425/L
https://image. ves2d . com/goods/103495056/L
https://image.ves2d . com/goods/ 122944685 /L
https://image.ves2d, com/goods/ 117014613710
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image_count = 1
for image in image_src:
with open('image_'+str(image_count)+' ipeg’,
res = reguests.get(image)
f.owrite(res.content)
image_count = image_count+]

=& otH M&E=E g4

'wh') as f:

image_1.jpeg image_2.jpeg image_3.jpeg

image_4.jpeg



End



